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IB Chemistry 12
Organic Nomenclature Review: Aliphatic Hydrocarbons

1. Identify the organic family ( alkane, alkene, alkyne or cycloalkane) that corresponds to each of the following

compounds.
a) CHs-CHa-CHz-CH; ALKANG d) CH2=CH-CH;-CH:CH2 ALKENE (dléne)
b) CHz=CH-CH,-CH LKene : el el
) 2 -CHs A e?_ CH3-C=C-CH;3 ALK}'/UG— QWCMG’KN‘I&
c) CsHsz™ ALKANE f) CH=C-C=C-CH,-c=cH ALKYNE
2. Give the correct IUPAC name for the following organic compo.unds.
a) b) ' <) 3-Chlorp- 5-lodphek~2-ene
CH;  CHj CH,—CHs CH;-CH=C-CH,-CH-CHj
| MO e T ; { :
CHz=CH—CH,— C=CH—C=CH~CH; ; " o :
\ r 3
H,lp ~dimethyl-Ld, b oC;lZO‘tﬂel‘l\Q 7- bromo- 3-ethyl -Y4-methy lyel
‘ or octa-Li,b—inene bromo-3-ethyl -4- qh( voctene
d) e) f)

| CH CH,-CH
CH;-CH-CH=CH-CH-CH,-CHj; , 3 : i
— ' , | | H,-CH=C-CH,-CH-C-CH,-CH
% ‘ 5 3 & : Lo o
@ = 3 | 3 F F

@ CH,-CH,
2-methyl=5- cydo propy| hept-3-ene
2,23~ teamethy 4-propyl heptane lo-ebhu-5,lg-di Fluoro-3-methy lock
e) h ) i e
| CHy—CHs | CH,-CH=C-CHj C”T'CEC‘!CH“CHZ‘CHJ
CHy— EC—4C_:'C;CH—('CJ:—{—‘-C_:'C—CH3 e : éH3 | . CH,y-CH,

7-thlovo - Lb-ethyldec~2, Y,8-triyne. 2 methylbut-2-€ne Y-ebhylhex -2-yne
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CH;-CH-;C-CEC-CH-CHz-CH—CH,-(,H_,'_ : ' CH,-CH,-C-Cl
! Frhone 8 |
Br ~ CH,~-CH,-CH,-CH; QMZ@H@ Ci

2,3,3-tribromo - ln-buiq [- K—Mthq.ldeC" Youne S.S-dl'cklorOCquohep‘tene




m) n) 0)

c
"o=et & H,—CH ‘

! AN CH-—C—CH,—CH,—CH—
HyC—CH—C==C~CH—CH—Ch | H Br 3 5 2—CHp—CH—CHs i
, : ‘

CH CH—CHy
5-ethyl-2-methy [ hept -3-yne Lras-dibromoethene |
2,2-dimethy|-5- pheny lhexene

3. Draw condensed structural formulas for the following organic compounds.

a) methylpropane b) 4-propyloctane c) 1,2,3,4,5,6-hexamethylcyclohexane
W CHa
o2 3 C g Chy CH-Chty CH, CH CH CHEA _cis
CHz-Cit CH» CH3 CH CHy CH-CHy Chp T U Q\
Hz
'Hz CH3 t"”.3
CH3 CHg

d) 2,3,5-trimethylnon-1,3,7-triene  e) 3,4-diethyl-5-cyclobutyloct-2-ene

] %43
e CH3 CHz
C =0 = Oh-Ci-Cl-¢= CH-CH3 Ols-CH=C —CH-CH- CH-CH; CH 3
C#3 cty
s
f) hex-2-yne g) 3,5-dichloro-3-methylhex-1-yne
¢ ¢
Ok L= ~CH,-Cp~CH3 ar=e-C- gy & s
G
h) 2,3-dibromopropene i) 3-cyclopropyl-2-pentene
Gi=C - CH, CHy Ot=C — Ch-Ch3
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